20.04.2016
Consecutive Numbers
So this is how it starts. You need to choose any four consecutive numbers and place them in a row with a bit of a space between them, like this:
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When you've chosen your consecutive numbers, stick with those same ones for quite a while, exploring ideas before you change them in any way. Now place +and − signs in between them, something like this :
4 + 5 - 6 + 7
4 - 5 + 6 + 7
and so on until you have found all the possibilities. Are you sure you've got them all?  You should include one using all +'s and one that includes all −'s.
Now work out the answers to all your calculations (e.g. 4 - 5 + 6 + 7 = 12 and so on).
Now try other sets of four consecutive numbers and look carefully at the sets of answers that you get each time. It is probably a good idea to write down what you notice. This can lead you to test some ideas out by starting with new sets of consecutive numbers and seeing if the same things happen in the same way.
Today we just had a go to find all the possible combinations, some people said that they got 7 combinations, others 8, others 12 and Andrew found 16 (see picture below for Andrew’s work) 
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21.04.2016
CONSECUTIVE NUMBERS
L.I.: to gather our findings about the problem and test out some predictions. 
So, on Thursday we all shared our findings and checked whether we had all the possible combinations, Andrew was right, there were 16! However, those people who found 8 explained that they didn’t think of having a negative number at the start and so agreed that there would be 16 combinations if they were having a negative number at the start (Elliot)

After this discussion, children were allocated different consecutive numbers so then we would have enough evidence to prove our theory. 

Green got 1,2,3,4

Yellow got 5,6,7,8 and 9,10,11,12

Orange got 13,14,15,16

And red got 17,18,19,20

After spending 15 minutes calculating the 16 different combinations we found... 
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1. 4+5+6+7= 22 
2. -4-5-6-7= -22

3. 4-5+6+7= 12 - double the 3rd number 
4. 4+5-6+7= 10  - double the 2nd number 
5. 4+5+6-7= 8  - double the 1st number 
6. -4+5+6+7= 14  - double the 4th number 
7. -4-5+6+7= 4  - always 4.  
8. -4-5-6+7= -8  - double the 1st number 
9. -4-5+6-7= -10  - double the 2nd number 
10.  4-5-6+7= 0   
11. 4-5+6-7= -2  - always -2 
12. 4+5-6-7= -4  - always -4   
13. -4+5-6+7= 2  - always 2 
14.  -4+5-6-7= -12  - double the 3rd number 
15. -4+5+6-7= 0    - when 1st and last negative answer equal 0. 
16. 4-5-6-7= -14   - double the 4th number. 
Miss Guzman explained the patterns and we all tested them with our numbers. But then, we started having questions: 
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Why is number 11 always -2?

Number 12 will always be -4. Why?

Number 13 will always be 2. Why?

Number 14 will always be double the third
number negative.

Number 16 will always be double the 4th
number, negative.

0Lea0 0508
RSSO0 060

L
n

ErETES 000 666 Qe @
e .. I NN




1) After calculating, today we had time to check that number 10 and 15 will always equal to 0, even if we tried with bigger numbers like 100.101,102,103, Alyssa checked that. But why? 
a. Ellie B. said: “when the first number and last number are negative and the two in the middle are positive it always equals 0. e.g.: -4+5+6-7=0”
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2) Number 7 and 12 will always be 4 and -4. Why? 
a. [image: image1.png]


Andrew W. said: “ 17+18-19-20= -4,-17-18+19+20= 4 so if you have any numbers using the symbols in these order +,+,-,- or -,-,+,+ the difference between them is always 4. If the total of the negative numbers are bigger the answer will be negative and if the positive numbers are bigger the answer will be p[ositive.” 

3) Why are number 11 (+-+-) and 13 ( -+-+) always -2 and 2? Answer by Fatou T. 
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